MERERGTE(Toh—HRILL, EZETHEKEZEEKN=1.0)

1. HiE= ZHRANEYMEERIZ Y (RERE/ARILVHEAH, FIFTERHERAALL)
2. BE&= PLFY—P22:28LM—E2, PLFY—P22:28LM—G
3. HEFEHE T mism
(MWEREE(EGLREE) w= 29.5 kg
@7vh—RILk
DA N= 4 ¥
QYA X feik M= 10 i
@1A LY OBABTERE (FRICLDMER) A= 78 mni= 78X10° m?
ORBEFEEZBEDERYER T D HAIOT7 U H—HRILE DR Nt= 2 &
OEFEMELYHBELETORS Heg= 172 mm = 0.172 m
(EET DHREDDAHTZRILER /S L= 574 mm = 0.574 m
BGYgRET DAMMSHIzRILRILD SRR BLETOIER Lg= 287 mm(Lg=L.2)= 0.287
4. B E(BREO/MRU T2 EZmMBEEALTER)
(WFREAKEERE Kh= 1.0
(2)FEARERE Kv=Kh, 2= 05
(R)EREHAKFEHES Fh=Kh-W-:9.8= 289.1 N
(A)HEtASREHESD Fv=Kv-W-:9.8= 144.6 N
BYF U h—RILEDEIRA ooo FheHe+(W-9.8+Fv) -(L-Lg)
L-Nt = 151.7 N
(BYF o H—RILL DB AR A Q=Fh/N= 72.3 N
(DToh—RILNMZET B NE
@BIERENE 0=Rb/A= 1.9 MPa< ft=176.4MPa
QEAMISHE T=Q/A= 0.9 MPa< fs=132.3MPa
Q5 IEREEAMEREFICRITDIHE fts=14ft—1.67 = 2455 MPa
o= 19  MPa < fts= 2455 MPa
®YF U h—RILEDIETLE
D7 H—RILE DL % = @A LBTII-
@avy)—toES = 150 mm = 0.15 m
@RI DIEARSE = 110 mm = 0.11 m
@HAEBIRME Ta= 3528 N > Rb= 1517
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